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Which object is heanier?

Year | Block 8 Unit: Mass .and ~volume
Key Viocabulary:
heavier lighter halanced capacity ~olwme empty
nearly empty | holf pull | nearly full | pull | grealer |  mass
What will I know hy the end .of this unit?
Heawier .and lighter:
Which ohject is lighter?
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The imass of the cube is

What is the mass of the
orange?

Which do you think can hold
.more marbles?

The pear is heavier than the same as iy
the sweet. Lhe&.p}‘t{ml.rz.e 4 The W‘iﬁi*ﬁwm than
orange.
Measuring mass: Full and empty: C,om.p,a.r.e Jv,olu.m.e
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The mass .of the orange is

The hox has . greater capacity.

Glass A has less juice than Glass B.
Glass B has more juice than Glass A.

The mass of the
pear is b cubes.

The mass of the
grape is | cube.

The mass of the pear is greater than the
mass .of the grape.
Thz.pmrmhmmﬂwmthzgxape.

Measure capacity:
b Lu,p/s,o,f?m,a,terﬂuﬂwM
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T}Le.,ca,paahé the jug is &
LLLP/S.E watker.

Compare capacity: A
ooy
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Which jug has the greater capacity?

Jug A




